

Released:

August 11, 2025

CENTRAL MARKETING AREA

FEDERAL MILK ORDER NO. 32

United States Department of Agriculture

Agricultural Marketing Service Dairy Program

Tel.: (913) 495-9300 --- Fax: (913) 888-9207

email: market.administrator@fmmacentral.com website: www.fmmacentral.com

Mailing Address: PO Box 14650 Shawnee Mission, KS

66285-4650

JULY 2025

STATISTICAL UNIFORM PRICE ANNOUNCEMENT

Producer Milk	Percent	Pounds	Minimum Class Price
Class I	26.42	321,760,297	\$22.02
Class II	10.51	127,970,873	19.31
Class III	52.77	642,654,310	17.32
Class IV	10.30	125,410,641	18.89
Total Producer Milk	100.00	1,217,796,121	

Computation of Uniform Price (per cwt @ Jackson County, MO)		Prices and Adjustments	
Producer Price Differential Class III Price (@ 3.5% Butterfat) Statistical Uniform Price (@ 3.5% Butterfat) Statistical Uniform Price (@ Average Pool Component Tests)	\$1.98 <u>\$17.32</u> \$19.30 \$21.27	Butterfat Price Protein Price Other Solids Price Nonfat Solids Price SCC Adj Rate (1,000 cells) Class 1 ESL Adj	\$2.8435 /lb 1.8730 /lb 0.3092 /lb 1.0286 /lb 0.00088 \$1.14 /cwt

COMPLITATION	OF DECEMBER	PRICE DIFFERENTIAL
CUMPUTATION	UF PRUIJULFR	PRICE DIFFERENTIAL

		Product Pounds	Price per cwt / lb	Component Value	Total Value
Class I	Skim Milk	314,128,082	\$12.86	\$40,396,871.35	
	Butterfat	7,632,215	2.7462	20,959,588.83	
Less:	Location Adjustment to Handlers			(741,080.27)	\$60,615,379.91
Class II	Butterfat	11,095,194	2.8505	31,626,850.52	
	Nonfat Solids	10,916,140	1.0744	11,728,300.82	43,355,151.34
Class III	Butterfat	25,230,408	2.8435	71,742,665.17	
	Protein	20,788,251	1.8730	38,936,394.11	
	Other Solids	37,298,041	0.3092	11,532,554.28	122,211,613.56
Class IV	Butterfat	5,302,955	2.8435	15,078,952.54	
	Nonfat Solids	11,219,582	1.0286	11,540,462.05	26,619,414.59
Total Class	ified Value				\$252,801,559.40
Add:	Value for 60(f) through 60(j)				673,396.04
	Other Source Receipts	177,950			
	Somatic Cell Adjustment - Classes II, III a	nd IV		_	1,112,634.81
Total Pool \	/alue			_	\$254,587,590.25
Less:	Value of Producer Butterfat	49,260,772	2.8435	(140,073,005.18)	
	Value of Producer Protein	39,022,392	1.8730	(73,088,940.23)	
	Value of Producer Other Solids	70,474,420	0.3092	(21,790,690.65)	
	Value of Producer Somatic Cell	220		(1,396,837.65)	(236,349,473.71)
Total PPD V	/alue before Adjustments				\$18,238,116.54
Add:	Location Adjustment to Producers				5,597,150.87
	One-half Unobligated Balance - Produce	Settlement Fund			870,934.88
Less:	Producer Settlement Fund - Reserve			_	(590,315.74)
Total Pool	Milk (w/URSP) & PPD Value	1,217,974,071			\$24,115,886.55
	Producer Price Differential		\$1.98		
	Statistical Uniform Price		\$19.30		

CENTRAL MARKETING AREA FEDERAL MILK ORDER NO. 32

Payment Schedule

Payment Dates for the Month of: JULY 2025

Payments TO the Producer Settlement Fund DUE by:

August 14, 2025

Payments FROM the Producer Settlement Fund DUE by:

August 15, 2025

Final payments TO a Cooperative Association must be RECEIVED by:

August 18, 2025

Final payments TO Producers must be RECEIVED by:

August 18, 2025

Producer Price Differential and Statistical Uniform Price, by Zone Differential

-	Zone 1/ Differential	Adjustment	Producer Price Differential	Statistical Uniform Price
_		dollars per hu	ndredweight	
As Announced:	3.20	0.00	1.98	19.30
Other Zones:	2.50	(0.70)	1.28	18.60
	2.70	(0.50)	1.48	18.80
	2.90	(0.30)	1.68	19.00
	3.10	(0.10)	1.88	19.20
	3.30	0.10	2.08	19.40
	3.60	0.40	2.38	19.70

^{1/} Differentials listed apply to zones included in the Central Marketing Area. Outside of this area, differentials may be above or below this range. Differentials apply on a county basis.

Est Class I Percentages

Producer Milk Received by Component Pounds

	<u>Skim</u>	<u>Butterfat</u>	<u>Protein</u>	Other Solids	Nonfat Solids
Producer Milk Receipts			Pounds		
Class I	314,128,082	7,632,215	10,379,355	18,895,443	29,274,798
Class II	116,875,679	11,095,194	3,871,036	7,045,104	10,916,140
Class III	617,423,902	25,230,408	20,788,251	37,298,041	58,086,292
Class IV	120,107,686	5,302,955	3,983,750	7,235,832	11,219,582
Total Producer Milk	1,168,535,349	49,260,772	39,022,392	70,474,420	109,496,812

Selected Pool Statistics

Average test of producer receipts:

LSI Class i Fercentages)	Average test of producer re	aceipis.
Skim	27.00 %	Butterfat	4.05 %
Butterfat	15.00 %	Protein	3.20 %
		Other Solids	5.79 %
		SCC	220

Administrative Assessment and Marketing Service Deduction

§ 1000.85 - Assessment for order administration \$0.040 per hundredweight

§ 1000.86 - Deduction for marketing services \$0.050 per hundredweight

^{2/} Prices at 3.5 percent butterfat, 2.99 percent protein, and 5.69 percent other solids.

UNITED STATES DEPARTMENT OF AGRICULTURE

AGRICULTURAL MARKETING SERVICE, DAIRY PROGRAM

Central Order - Federal Order No. 32 Pool Handler Listing

July 2025

Plant Name	City, State	County	FIPS Code	Loc. Adj. 1/
Pool Distributing Plants - Sec. 1032.7 (a) or (b) or (d)				
Anderson-Erickson Dairy Co	Des Moines, IA	Polk	19153	(\$0.50)
Aurora Organic Dairy	Platteville, CO	Weld	08123	(\$0.70)
Braum, W.H., Inc	Tuttle, OK	Grady	40051	\$0.10
Central Dairy Co	Jefferson City, MO	Cole	29051	\$0.20
Dean Dairy	Le Mars, IA	Plymouth	19149	(\$0.60)
East Side Jersey	O Fallon, IL	St Clair	17163	\$0.40
East Side Jersey	Sioux Falls, SD	Minnehaha	46099	(\$0.60)
Farmers' All Natural Creamery	Wellman, IA	Washington	19183	(\$0.30)
Hiland Dairy Foods Co, LLC	Chandler, OK	Lincoln	40081	\$0.10
Hiland Dairy Foods Co, LLC	Kansas City, MO	Jackson	29095	\$0.00
Hiland Dairy Foods Co, LLC	Norman, OK	Cleveland	40027	\$0.10
Hiland Dairy Foods Co, LLC	Omaha, NE	Douglas	31055	(\$0.50)
Hiland Dairy Foods Co, LLC	Wichita, KS	Sedgwick	20173	(\$0.30)
Jackson Dairy	Hutchinson, KS	Reno	20155	(\$0.30)
Kroger Mountain View Foods	Denver, CO	Denver	08031	(\$0.50)
Meadow Gold	Englewood, CO	Arapahoe	08005	(\$0.50)
Prairie Farms Dairy Inc	Carlinville, IL	Macoupin	17117	\$0.40
Prairie Farms Dairy Inc	Dubuque, IA	Dubuque	19061	(\$0.10)
Prairie Farms Dairy Inc	Granite City, IL	Madison	17119	\$0.40
Prairie Farms Dairy Inc	Olney, IL	Richland	17159	\$0.40
Royal Crest Dairy, Inc	Longmont, CO	Boulder	08013	(\$0.70)
Safeway Stores, Inc	Denver, CO	Denver	08031	(\$0.50)
Pool Supply Plants - Sec. 1032.7 (c)				
Associated Milk Producers Inc	Freeman, SD	Hutchinson	46067	(\$0.60)
Associated Milk Producers Inc	Sanborn, IA	O Brien	19141	(\$0.60)
Central Equity Milk Coop	Fairland, OK	Ottawa	40115	\$0.00
Dairy Farmers Of America Inc	Independence, IA	Buchanan	19019	(\$0.30)
Foremost Farms USA	Lancaster, WI	Grant	55043	(\$0.30)
Independent Dairy Producers	Boise City, OK	Cimarron	40025	(\$0.70)
Kalona Farms	Kalona, IA	Washington	19183	(\$0.30)
Prairie Farms Dairy Inc	Carbondale, IL	Jackson	17077	\$0.40
Prairie Farms Dairy Inc	Luana, IA	Clayton	19043	(\$0.30)

Edwardsville, IL

Monroe, WI

Artesia, NM

City, State

FIPS Code

County

Loc. Adj. 1/

Plant Name

Prairie Farms Dairy, Inc

Select Milk Producers, Inc.

Rolling Hills Dairy Producers Cooperative